Practice Worksheet: Binary Integer Programming Problems

Solve the following Binary Integer Programming problems. Ensure all variables z; are binary, i.e., z; € {0,1}.

1. Maximize:
Z = —bx1 + 2519

Subject to:
—3£C1 + 30.%2 S 27

3x1+ 29 <4
1, T2 € {0,1}

2. Maximize:
7 = 31’1 +8£E2 + 5£U3

Subject to:
21 +x9 + a3 < 4

r1 + 3z + 223 > 3

x1,To,T3 € {O, 1}

3. Maximize:
Z = 6x1 +9x2 +4x3 + Ty

Subject to:
31’1 +2I2+4Z‘3+£E4 S 6

T, + 209 + 23 + 204 > 4

Ty, T2, x3, x4 € {0,1}

4. Minimize:
Z = 51‘1 + 10$2 + 3933 + 81‘4

Subject to:
2x1 + 30 +4xs + 24 <7

T+ To + 2x3 +2x4 > 4

T1,%2,T3,T4 € {07 1}

5. Maximize:
Z =3x1 + 4o + 223 + x4 + 225

Subject to:
200 —xo +x3+ x4+ 25 <3

7$1+3I2+I3*$472I5§2
201 + 19 —x3+ x4+ 325 < 1

x1,x2,x3, %4, x5 € {0,1}



